
Osnovi elektronike – Odsek SI  Drugi kolokvijum - 2014/2015. 
 
 

REŠENJA ZADATAKA 
 
 

3. a) ( )Ω+= 6,02,0 jZTEV     

V)2,04,0( jUTEV +=  

 

 

 

b) 04,008,0 jS += ; 0,08W=P ; VAr04,0=Q . 

1,03,0 jIP −= ;  ( ) ( )°−= 43,182cosA447,0 fttiP π  

 

c) ( )Ω−==
∗

6,02,0 jZZ TEVP  

 

Ω= 2,0PR   µF68,17=PC  

 

 

 

 

4.  
Za V4.1V12 −≤≤− Gv : 

1D -ON, 
2D -OFF, [ ] [ ]( )4.1V4.0V +−= GP vv . 

Za V4.1V4.1 ≤≤− Gv : 
1D -OFF, 

2D -OFF, constvP == 0]V[ . 

Za 12VV4.1 ≤≤ Gv : 
1D -OFF, 

2D -ON, [ ] [ ]( )4.1V4.0V −= GP vv . 
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